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1. In which type of computer, data are represented as discrete signals?

(A) Analog Computer (B) Digital Computer

(C) In both (D) Hybrid Computer

2. PARAM is an example of : ___________.

(A) Super computer (B) PC

(C) Laptop (D) PDA

3. ALU and Control Unit jointly known as __________.

(A) RAM (B) ROM

(C) CPU (D)  PC

4. BIOS stands for ______________.

(A) Basic Input Output system (B) Binary Input output system

(C) Basic Input Off system (D) All of the above

5. Which of the following is also known as brain of computer?

(A) Control unit (CU)

(B) Central Processing Unit(CPU)

(C) Arithmetic and Language Unit (ALU)

(D) Monitor

6. One byte is  equivalent to ___________.

(A) 8 bits (B) 4 bits

(C) 2 bits (D) 9 bits

{DBF 1}
{DBF 2}
{DBF 3}
{DBF 4}
{DBF 5}
{DBF 6}
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7. Which numbering system uses numbers and letters as symbols?

(A) Decimal (B) Binary

(C) Octal (D) Hexadecimal

8. Octal coding involves grouping the bits in ___________.

(A) 5’s (B) 7’s

(C) 4’s (D) 3’s

9. The 2’s complement of 10002 is ___________.

(A) 0111 (B) 0101

(C) 1000 (D) 0001

10. The number 1001012 is equivalent to Hexadecimal is ___________.

(A) 54 (B) 45

(C) 37 (D) 25

11. How many inputs does a half adder have?

(A) 1 (B) 2

(C) 3 (D) 4

12. A circuit that operates in such a way that its output is high, if any one of its
input is high is ___________.

(A) OR (B) NAND

(C) NOR (D) AND

(P.T.O.)

{DBF 7}
{DBF 8}
{DBF 9}
{DBF 10}
{DBF 11}
{DBF 12}
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13. A counter that counts from a maximum count downward to zero is ________.

(A) Synchronous counter (B) Down counter

(C) Up counter (D) Up/down counter

14. Which of the following is a form of De Morgan’s theorem?

(A) A + B = (AB)1 (B) AB = (A + B)1

(C) (A + B)1 = A1. B1 (D) B1 A·B = A1. B1

15. A JK flip-flop will operate in the toggle mode when ___________.

(A) J = 0, K = 0 (B) J = 1, K = 0

(C) J = 1, K = 1 (D) J = 0, K = 1

16. Which of the following below is a valid C keyword?

(A) Integer (B) Int

(C) Null (D) None of above

17. Which operator has the highest priority?

(A) ( ) (B) [ ]

(C) * (D) /

18. Break statement is used for ____________.

(A) Quit a program (B) Quit the current iteration

(C) Both of above (D) None of above

{DBF 13}
{DBF 14}
{DBF 15}
{DBF 16}
{DBF 17}
{DBF 18}
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19. A set of names can be represented as a ____________.
(A) Two-dimensional array of characters
(B) One-dimensional array of strings
(C) One-dimensional array of pointers to characters
(D) All of these

20. The  Output of the following statement
Printf (“%f” , 9/5) ; is ___________.
(A) 1.8 (B) 1.0
(C) 2.0 (D) None of the above

21. If  func is a function needing  three arguments a1,a2,a3, then func can be
invoked by __________.
(A) func(a1,a2,a3); (B) (*func)(a1,a2,a3);
(C) *func(a1,a2,a3); (D) None of these

22. Consider the declaration
int a=5, *b=&a;
The output of the statement
printf(“%d”, a*b); is ____________.

(A) 25 (B) garbage
(C) 5 X address of b (D)  an error message

23. The constructer, which does not accepts any parameter is called __________.
(A) Zero argument constructer
(B) Parameterized constructer
(C) Copy constructer.
(D) Dynamic constructer

{DBF 19}
{DBF 20}
{DBF 21}
{DBF 22}
{DBF 23}


M-5431 [6]

24. If x is an array of integer, then value of &x[i] is same as that of __________.

(A) &x[i-1]+sizeof(int) (B) x+ sizeof(int)*i

(C) x+i (D) both (B) and (C)

25. Let x be an array. Which of the following operations are illegal?

(A) ++x (B) x+1

(C) x++ (D) All the above

26. Which of the following data structure is linear type?

(A) Graph (B) Trees

(C) Binary tree (D) Stack

27. Which of the following data structure cannot store the non homogeneous data
elements?

(A) Array (B) Records

(C) Pointer (D) None

28. Merge sort uses _______________.

(A) Divide and conquer strategy (B) Backtracking approach

(C) Heuristic  approach (D) Greedy approach

29. Which of the following traversal techniques lists the nodes of a binary search
tree in ascending order?

(A)  Post - order (B) In - order

(C) Pre-order (D) None of the above

{DBF 24}
{DBF 25}
{DBF 26}
{DBF 27}
{DBF 28}
{DBF 29}
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30. A data structure where elements can be added or removed at either end but
not in the middle is ___________.

(A) Linked lists (B) Stacks

(C) Queues (D) De-queue

31. Choose the correct statements regarding inline functions.

(A) It speeds up execution. (B) It slows down execution.

(C) It decreases the code size. (D) None of the above.

32. The statements

int a=5;

count<< “ FIRST” <<  (a << 2 )  << “SECOND” ;

OUTPUTS

(A) FIRST52SECOND (B) FIRST20SECOND

(C) SECOND25 FIRST (D) An error message

33. A constructor is called whenever __________.

(A) An object is declared (B) An object is used

(C) Class is declared (D) Class is used

34. Which of the following is not a storage class supported by C++?

(A) Register (B) Auto

(C) Static (D) Dynamic

35. Which of the following cannot be declared static?

(A) Class (B) Object

(C) Functions (D) (A) and (B)

{DBF 30}
{DBF 31}
{DBF 32}
{DBF 33}
{DBF 34}
{DBF 35}
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36. The operators | | , && ,  *  , ! , if arranged in the ascending order of precedence,
read __________.

(A) && ,  | |  , * ,  ! (B) |  | ,  &&  ,  * ,  !

(C) |  | ,  &&  ,   ! ,   * (D) !  ,  |  |  ,  &&  ,  *

37. What is the environment variable that contains a list of directories where Java
looks for classes referenced in program?

(A) PATHCLASS (B) SEARCHPATH

(C) PATHDIR (D) CLASSPATH

38. Is null an object in java?

(A) Yes (B) No

(C) Sometime yes (D) None of these

39. Subclass is also called _____________.

(A) base class (B) child class

(C) derived class (D) both (B) and (C)

40. Automatic conversion from primitive type to an object of the corresponding
wrapper class is called ___________.

(A) Coercing (B) Casting

(C) Boxing (D) Widening

{DBF 36}
{DBF 37}
{DBF 38}
{DBF 39}
{DBF 40}
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41. Page fault occurs when __________.

(A) The page is corrupted by the application software

(B) The page is in main memory.

(C) The page is not in main memory

(D) One tries to divide a number by 0

42. Fragmentation is __________.

(A) dividing the secondary memory into equal sized fragments

(B) dividing the main memory into equal sized fragments

(C) Chunks of memory used in a page

(D) Chunks of memory unused in a page

43. Semaphores are used to solve the problem of ___________.

(A) Race condition (B) Process synchronization

(C) Mutual exclusion (D) both (B) and (C)

44. Dijkstra’s  banking algorithm in an operating system solves the problem of
___________.

(A) Deadlock avoidance (B) Deadlock recovery

(C) Mutual exclusion (D) Context switching

45. Which of the following is the most suitable scheduling scheme in a real time
operating system?

(A) Round-robin (B) First-come–first-serve

(C) Pre empting scheduling (D) Random scheduling

{DBF 41}
{DBF 42}
{DBF 43}
{DBF 44}
{DBF 45}
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46. Star topology is used in __________.

(A) LAN (B) WAN

(C) MAN (D) Internetwork

47. A Collection of eight bits is called ________.

(A) Byte (B) Word

(C) Record (D) File

48. When Amplitude Shift Keying (ASK) is implemented using only two levels
then it is called ___________.

(A) Half Duplex ASK (B) Multilevel ASK

(C) Binary ASK (D) Duplex ASK

49. To guarantee detection of up to S errors in all cases, minimum hamming distance
in a block code must be __________.

(A) S (B) S + 1

(C) S – 1 (D) 0

50. In Transmission Control Protocol (TCP), numbering starts with a
___________.

(A) generated number

(B) randomly generated node

(C) randomly generated number

(D) randomly granted number



{DBF 46}
{DBF 47}
{DBF 48}
{DBF 49}
{DBF 50}
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 3. ¥Àæ±Éß ¥ÀwæPÉAiÀÄ ªÉÆºÀgÀ£ÀÄß eÁUÀævÉ¬ÄAzÀ vÉgÉ¬Äj ªÀÄvÀÄÛ ¥Àæ±Éß¥ÀwæPÉ¬ÄAzÀ N.JA.Dgï. GvÀÛgÀ

ºÁ¼ÉAiÀÄ£ÀÄß ºÉÆgÀUÉ vÉUÉzÀÄ, N.JA.Dgï. GvÀÛgÀ ºÁ¼ÉAiÀÄ°è ¸ÁªÀiÁ£Àå ªÀiÁ»wAiÀÄ£ÀÄß vÀÄA©j.
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 4. ¥ÀjÃPÉëAiÀÄ ̧ ÀªÀÄAiÀÄzÀ°è:
a) ¥ÀæwAiÉÆAzÀÄ ¥Àæ±ÉßAiÀÄ£ÀÄß eÁUÀævÉ¬ÄAzÀ N¢j.
b) ¥Àæw ¥Àæ±ÉßAiÀÄ PÉ¼ÀUÉ ¤ÃrgÀÄªÀ £Á®ÄÌ ® s̈Àå DAiÉÄÌUÀ¼À°è CvÀåAvÀ À̧jAiÀiÁzÀ/ À̧ÆPÀÛªÁzÀ
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 5. GvÀÛgÀzÀ ¥ÀÆªÀð¹zÀÝvÉAiÀÄ §gÀªÀtÂUÉAiÀÄ£ÀÄß (avÀÄÛ PÉ® À̧) ¥Àæ±Éß ¥ÀwæPÉAiÀÄ°è MzÀV¹zÀ SÁ° eÁUÀzÀ°è

ªÀiÁvÀæªÉÃ ªÀiÁqÀ̈ ÉÃPÀÄ (N.JA.Dgï. GvÀÛgÀ ºÁ¼ÉAiÀÄ°è ªÀiÁqÀ̈ ÁgÀzÀÄ).
 6. MAzÀÄ ¤¢ðµÀÖ ¥Àæ±ÉßUÉ MAzÀQÌAvÀ ºÉZÀÄÑ ªÀÈvÁÛPÁgÀªÀ£ÀÄß UÀÄgÀÄw À̧̄ ÁVzÀÝgÉ, CAvÀºÀ GvÀÛgÀªÀ£ÀÄß

vÀ¥ÀÄà JAzÀÄ ¥ÀjUÀtÂ̧ À̄ ÁUÀÄvÀÛzÉ ªÀÄvÀÄÛ AiÀiÁªÀÅzÉÃ CAPÀªÀ£ÀÄß ¤ÃqÀ̄ ÁUÀÄªÀÅ¢®è. N.JA.Dgï.
ºÁ¼ÉAiÀÄ°è£À GzÁºÀgÀuÉ £ÉÆÃr.

 7. C s̈Àåyð ªÀÄvÀÄÛ PÉÆoÀr ªÉÄÃ°éZÁgÀPÀgÀÄ ¤¢ðµÀÖ¥Àr¹zÀ ̧ ÀÜ¼ÀzÀ°è N.JA.Dgï. ºÁ¼ÉAiÀÄ ªÉÄÃ É̄ ̧ À»
ªÀiÁqÀ̈ ÉÃPÀÄ.
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 9. C s̈ÀåyðAiÀÄÄ ¥Àæ±Éß ¥ÀÄ À̧ÛPÀªÀ£ÀÄß ªÀÄvÀÄÛ N.JA.Dgï. C s̈ÀåyðAiÀÄ ¥ÀæwAiÀÄ£ÀÄß vÀªÀÄä eÉÆvÉ vÉUÉzÀÄPÉÆAqÀÄ
ºÉÆÃUÀ§ºÀÄzÀÄ.

 10. PÁå®ÄÌ̄ ÉÃlgï, ¥ÉÃdgï ªÀÄvÀÄÛ ªÉÆ É̈Ê̄ ï ¥sÉÆÃ£ïUÀ¼À£ÀÄß ¥ÀjÃPÁë PÉÆoÀrAiÀÄ M¼ÀUÉ C£ÀÄªÀÄw À̧̄ ÁUÀÄªÀÅ¢®è.
 11. C s̈ÀåyðAiÀÄÄ zÀÄµÀÌøvÀåzÀ°è vÉÆqÀVgÀÄªÀÅzÀÄ PÀAqÀÄ§AzÀgÉ, CAvÀºÀ C s̈ÀåyðAiÀÄ£ÀÄß PÉÆÃ¸ïðUÉ
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CAPÀUÀ¼À£ÀÄß ¥ÀqÉAiÀÄvÀPÀÌzÀÄÝ.
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 2. ¥Àæw ¥Àæ±ÉßUÉ MAzÀÄ ªÀÈvÀÛªÀ£ÀÄß ªÀiÁvÀæ ¤Ã° CxÀªÁ PÀ¥ÀÄà ¨Á¯ï ¥Á¬ÄAmï ¥É£ï¤ßAzÀ ªÀiÁvÀæ

vÀÄA§vÀPÀÌzÀÄÝ. GvÀÛgÀªÀ£ÀÄß ªÀiÁ¥Àðr À̧®Ä ¥ÀæAiÀÄwß À̧̈ ÉÃr.
 3. ªÀÈvÀÛzÉÆ¼ÀVgÀÄªÀ CPÀëgÀªÀÅ PÁt¢gÀÄªÀAvÉ ªÀÈvÀÛªÀ£ÀÄß ̧ ÀA¥ÀÆtðªÁV vÀÄA§ÄªÀÅzÀÄ.
 4. N.JA.Dgï. ºÁ¼ÉAiÀÄ°è AiÀiÁªÀÅzÉÃ C£ÁªÀ±ÀåPÀ UÀÄgÀÄvÀÄUÀ¼À£ÀÄß ªÀiÁqÀ̈ ÉÃr.
 5. GvÀÛj¹zÀ ¥Àæ±ÉßUÀ¼À MlÄÖ ̧ ÀASÉåAiÀÄ£ÀÄß O.M.R. ºÁ¼ÉAiÀÄ°è ¤UÀ¢¥Àr¹gÀÄªÀ eÁUÀzÀ°è £ÀªÀÄÆ¢ À̧vÀPÀÌzÀÄÝ,

E®èªÁzÀ°è O.M.R. ºÁ¼ÉAiÀÄ£ÀÄß ªÀiË®åªÀiÁ¥À£ÀPÉÌ ¥ÀjUÀtÂ̧ ÀÄªÀÅ¢®è.
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